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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This Question Paper contains 38 questions. All questions are compulsory.
(i1) Question Paper is divided into five Sections — Section A, B, C, D and E.

(iit) In Section A — Questions no. 1 to 18 are Multiple Choice Questions
(MCQs) and Questions no. 19 & 20 are Assertion-Reason based questions

of 1 mark each.

(iv) In Section B - Questions no. 21 to 25 are Very Short Answer (VSA) type

questions, carrying 2 marks each.

(v) In Section C — Questions no. 26 to 31 are Short Answer (SA) type

questions, carrying 3 marks each.

(vi) In Section D — Questions no. 32 to 35 are Long Answer (LA) type

questions, carrying 5 marks each.

(vii) In Section E — Questions no. 36 to 38 are case study based questions,

carrying 4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 3 questions in Section C, 3 questions in

Section D and 2 questions in Section E.

(ix) Use of calculators is not allowed.

SECTION - A

This section consists of 20 multiple choice questions of 1 mark each. 20 x 1 =20

a c 0
1. If|{b d O] i1s ascalar matrix, then the valueof a + 2b + 3c + 4d 1s :
0 0 5
@A 0 B) 5
©) 10 (D) 25
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L 12 1 .

femzfe A —?{_3 2}%,3%341&{5’A%.
2 -1 2 -1
oy o[

12 -1 12 -1
© ?{3 2} ©) 5{3 2}

aﬁA:{ 24 12} B,ATI-—A+AZ_A3+ .3

-1 -1 3 1
(A) 4 3} (B) 4 _J
0 0 1 0
©) 0 0} (D) 0 J

-2 0 0
geA=|1 2 33| A@d.A | wAAE:
5 1 -1
(A) 1001 (B) 101
(©) 10 (D) 1000

IRIESED [1 x]{4 0}=0,?ﬁx7ﬂ1ﬂ7{%:

-2 0
A) —4 (B) -2
€) 2 D) 4
e2* BT e¥ o FTIET JTTHI @ :
A) e (B) 2e*
(C) 2e% (D) 2e*
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(©)

(A)

(©)

IfA:{2

2
3

1|2
7|3

-1
4

IfA=]1

(A) 1001
(C) 10

2
i

1
2}, then the value of - A + AZ - A3 + ... is:

-1
3

|

) 2 1 } .
Given that A1 = 1 , matrix A is :
7T -3 2

(B) [

112
D) 4—9{

(B)

D)

2 -1
3 2

3
-4

1 0

0
3 |, then the value of | A (adj. A) | is:
-1

B) 101

(D) 1000

01

: 4 0 :
5. Given that [1 x] { 0 0} =0, the value of x1s :

(A)

—4

© 2

B) -2
(D) 4

6. Derivative of e2* with respect to e*, is :
A) e
(C) 2e%
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7. k%ﬁmm%%q,wf(x):{@z’ x#0
k , x=0
x=0RHAT & ?
1
(A 0 B) 1
© 1 (D) 4
?
8, j HAR
0 9—.%‘2
7T T
(A) s B) 1
T 7T
©) 3 D) 8

9. FIhATHHUIxdy +ydx=0HT AU A S :
(A) xy=c B) x+y=c
(C) x%2+y2=c? (D) logy=logx+c

10. 3Taehel GHIHUT (x + 2y2) 3—3' =y (y > 0) 1 FHTH 0T § :
X

@ B) x
X

© v D =
y

11, SR adnbAWMaRTER |al =1, |bl=2aMa -b=+32 a
2% b HEEBBIE

T T

(A) o (B) 3
5T 11x

©) 3 (D) e
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For what value of k, the function given below is continuous at x =0 ?

Ja+x -
f(x):{ S w20
k , x=0
1
A) 0 B 1
© 1 D) 4
¢ dx
The value of I 1S :
0 9—.%‘2
T T
(A) m (B) n
T T
© Py (D) 5

The general solution of the differential equation x dy + y dx=01is:
(A xy=c B) x+y=c
(C) x2+y2=c? D) logy=logx+c

The integrating factor of the differential equation (x + 2y?2) ;1_37 =y (y>0)
X

1S :

1
A — B) «x
X
1
© vy D) =
- - - - B
If a and b aretwovectorssuchthat | a |=1,| b |=2and a ‘b = «/g,
%
then the angle between 2; and —b 1is:
T T
A) — B —
(A) o B) 3
5n 11rn
) — D) —
©) 5 D) 5
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A A A A AN A

VAN —> VAN
12. e a =2i —j+k, b =1-3] —5kauc =—31 +4] + 4k frg By
& et B PR R 8, e d

(A) T EHeTg Y (B) T Afah-Hior By
(C) U gHigaTg s (D) T g S

13. TATa Thimau i Rmsfm | a | =ad, @

> N2 —> N9 > N9
la xi|“+]axj|“+]laxk|” HAEE:

(A) a2

(C) 3a?

(B) 2a2

D) 0

14. T8 (1, -1, 0) © Bl I STeH! AT Y -3187 o FHIAL TG o1, |G THIHT 2 :

- A
r 1

T VER (B)

- A A A
r 1

(A) = =1 -] +A]
S5 A A A N A
C) r=1-j+xrk D) r =Xj
15, Y LoX Yl Z g 2X=3 YV 2= 5 g oww ¥ fru wew ced
2 3 1 o -1 7
8,988
1 1
A —— B =
(A) 5 (B) 5
) 2 (D) 3
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AN AN —> A AN A AN A

- AN - AN
12. The vectors a =21 —jJ +k, b =1 -3j —bkand ¢ =-31 +4j + 4k
represents the sides of

(A) an equilateral triangle
(B) an obtuse-angled triangle
(C) an isosceles triangle

(D) aright-angled triangle

- -
13. Let a be any vector such that | a | = a. The value of

A A A
2 xi12+]ax]i%+]a k| is:
(A) a2 (B) 2a2
©) 3a2 D) 0

14. The vector equation of a line passing through the point (1, —1, 0) and

parallel to Y-axis is :

-
r

S I VYC (B)

(A) = =1-] +xj

- A A A - A
(C) r=1-3+xrk D) r =xj

15. The lines 1—x:y_—1:E and 296_3: Y :Z_4 are perpendicular to
2 3 1 2p -1 7
each other for p equal to :
1 1

A —= B =
(A) 5 B 5
€ 2 D) 3
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16. e e gue (LPP) fSraeht gErmd & gem TR 2, & 32 %o Z = 4x + y 1

AfRaT gH 3 :

Y

N

90 1

(0, 50)
50 1

B (20, 30)

WLLL .C — >X
0] 10 20 30 40 50
(A) 50 (B) 110
(C) 120 (D) 170

17. 97 T Agfoseh =X X 1 WTRehdT s, e 2 :

18.

X 0 1 2 3 4

PX) |01 |k |2k | k| o1

&l k Teh 33 IS |
A Al =X X 1 AH 2 B <l ek &
1 2
A) = B 5
4
(©) 5 D) 1
% f(x) = kx — sinx FRa agmm 8, afe
A k>1 B) k<1
C) k>-1 M) k<-1
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16. The maximum value of Z = 4x + y for a L.P.P. whose feasible region is
given below is :

N

90 1

(0, 50)

50
B (20, 30)
(30, 0)
WLLL .C — >X
0] 10 20 30 40 50
(A) 50 (B) 110
(©) 120 (D) 170

17. The probability distribution of a random variable X is :

X 0 1 2 3 4

PX) |01 | k|2 | k| o1

where k 1s some unknown constant.

The probability that the random variable X takes the value 2 is :

1 2
(A) = B 5
4
© 5 D) 1

18. The function f(x) = kx — sin x is strictly increasing for
A k>1 B k<1
C) k>-1 D) k<-1
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AR — Teb AT T3

T &1 19 T 20 § Tk JTRYA (A) % 91¢ Tk e (R) fear & | 1 § @ =l s
BT

(A) e (A) de1 b (R) ST T § | b (R) 1o (A) 1 0 ST il
2|

(B) 3feped (A) qum &b (R) gHI & & | b (R) 1M (A) i ot =me &
T |

(C) ANEReA (A) H 8, 70 @ (R) 3 2 |
(D) IANTHYT (A) 39T & e doh (R) T2 |

19. AN (A) : T8I R = {(x, y) : (x + y) Th AT T&AT 2 AU x, y € N} b WJed
ey Tl 2 |

T (R) : et WTeha F@N3T n % foTT, 2n T WIST TR 7 |

20. MR (A) : foreht LPP % fore wfterg gemma & & wivfia feig qofu mu # |

Z = x + 2y 1 AhdH TH 3= (GG W2 |

Y
6% N (0, 60) T (120, 60)
(60, 30)
R
301 3
/
(40, 20)—|
(120,00
0 P\ QN -
(60, 0)

b (R) : T LPP fSiereh1 e &= ieig g1, 1 38aH g hivfie fog TEd & |
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ASSERTION-REASON BASED QUESTIONS
Questions No. 19 & 20, are Assertion (A) and Reason (R) based questions
carrying 1 mark each. Two statements are given, one labelled Assertion (A)
and the other labelled Reason (R).

Select the correct answer from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and the Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The relation R = {(x, y) : (x + y) is a prime number and x,y € N}

1s not a reflexive relation.

Reason (R) : The number ‘2n’ is composite for all natural numbers n.

20. Assertion (A) : The corner points of the bounded feasible region of a
L.P.P. are shown below. The maximum value of Z = x + 2y occurs at

infinite points.

Y
6% N (0, 60) T (120, 60)
(60, 30)
R
301 3
/
(40, 20)— |
(120,00
0 P\ QN i
(60, 0)

Reason (R) : The optimal solution of a LPP having bounded feasible

region must occur at corner points.
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23.
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25.

26.

27.
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g - g
M @UE ¥ 5 3 7Y I ATl T 7, T8 Teh o 2 37 ¢ |

(a) 7< <—%1\F1Qta —1( cos ¥ jﬁ«{cﬂdl—lmﬁoﬂwﬁﬁm

1—sinx
YT

(b) tan! (1) + cos™! (— %j + sin! (— %j T & T AT HIIT |

(a) 3Cy =cos® (sec? 2t) g, dl % T SHIRT |
YT
b) Ay =er-vE, g ARy Yo 18T

dx  (1+logx)?
g AU 1 iy, Torem et f(x) = xf — 403 + 10 TR sEmm 2 |

Teh T 1 3T 6 cm?/s 1 G H 96 T 7 | ©F 1 IETT e fohe & ¢ 181 8, &
3 R HI & 8 cm & ?

i :

dux.
x(x -1)

Qug -7
T @UE T 6 TTg-3IT Y o T &, FH Jedieh o 3 375 3 |

e y = (sin 2)* - xsmx+ax%?ﬁ Sﬂﬂﬁﬁﬂl
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SECTION - B
In this section there are 5 very short answer type questions of 2 marks each.

COS X

21. (a) Expresstan! (1 j, where %ﬂ <x< g in the simplest form.

—sinx

OR

(b) Find the principal value of tan™! (1) + cos™! (— %) + sin”! (— L] .

72

22. (a) Ify=cos® (sec? 2t), find %

OR

(b) Ifx¥=e*"7, prove that dy  logx

dx  (1+logx)?

23. Find the interval in which the function f(x) = x* — 4x3 + 10 is strictly
decreasing.

24. The volume of a cube is increasing at the rate of 6 cm3/s. How fast is the
surface area of cube increasing, when the length of an edge is 8 cm ?

25. Find: J‘+ dx.
x(x”—=1)
SECTION - C
In this section there are 6 short answer type questions of 3 marks each.
26. Given that y = (sin x)* - a52% + a¥ find 3_y
X
x dx

1
27. (a) Evaluate: ;[1 005 9% 1 Sin O

OR

. 1 X
(b) Find: | e* =+ dx
I [(szﬁ ~/1+x2]

65/4/1/21/QSS4R Page 15 of 24 P.T.0.
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3x+5H
28. A hIfU : dx
'[\/x2+2x+4

29. (a) 3Tahed THIH ? =y cot 2xw%ﬁgwaﬁaﬁﬁq,ﬁm%%ygj =2
X

YT

(b) Wm(xe% +v) dx = x dy 1 faf® g1 wa hifve, femg fr y =1
%Tﬂx=1%|

30. T Y& T 99 Rl UTh g B hifoTy ;
UL x+y <6

o AW Z = 2x + 3y T A AhaH T HifTT |

31. (a) 52T S THR A KA TE AWM K TEI AT TH I @I I 2 | I 5
ATGTSAT Teh TAT HehTell STl 8, ST SIGeIg STedl 91 91 Sl & | @i ¢ e
STCIITE SITAT 1 219 shl ITRIehd 3T shifSTg |

YT

(b) e AT ITH T AHEEAT 3T <! STRIehdl, foraw €@ < 3T shl Iiiehar & g
2 | 39 U8 I Q1 IR 3IBTAT T | B 3T shl TEAT bl ITTIehdl 52 1 <hifaT | 39
e o1 HTEY ot [T IR |
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29.

30.

31.
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3x +5

dx
\/x2 +2x+4

Find : j

) : . : : . d
(a) Find the particular solution of the differential equation &= y cot 2x,
given that y(gj = 2.

OR

(b) Find the particular solution of the differential equation

y
(xe* +y)dx=xdy, given that y =1 when x = 1.

Solve the following linear programming problem graphically :
Maximise Z = 2x + 3y
subject to the constraints :
xX+y<6
x22
y<3

x,y>0

(a) A card from a well shuffled deck of 52 playing cards is lost. From the
remaining cards of the pack, a card is drawn at random and is found
to be a King. Find the probability of the lost card being a King.

OR

(b) A biased die is twice as likely to show an even number as an odd
number. If such a die is thrown twice, find the probability
distribution of the number of sixes. Also, find the mean of the

distribution.
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@ ug - ¥

30 @S H AR -3 At Y9 8 | Tedeh T 6 5 37 & |
32. (a) 9%y =x|x| 1 ARG GifeW | 3T 30 a6, X-31&7 qAT BT 1 = —2 qAT
x = 2 S e &1 &1 %t THhA 8 FTd hITT |
JTET
(b) THTHSH % TAN § drElgd 9x2 + 25y2 = 225, W3 x = —2 T x = 2 IR
X-3781 % = fort &1 BT &t TTd SHITTT |

33. (a) WATA=R— {5/ B=R— {1} 2 | f(x) = x:i

T ferm i |W%fwamg|
Fa
(b) e e fop = weft arafers T3t % A= R | qiTivg dey
S={(a,b): & a—b + V2 TH WA TE T}
e, Tafid I TR B |

g aRiRd e £: A > B

-3
1
-1

34, e A= B, a1 A~ i hifSw | 314 = wfientor T 61 & 1Ta shifsTe |

=W N
[\ I

2x+y—3z=13
3x+2y+z=4
x+2y—z=8

35. (a) %@sz‘?y_G:l_Zamsaﬁ;wim@m‘@Ta‘rﬁg (4, 0, —5) A BT

2 4 -1
AT 2, o sfT= sl gl T I |
AT
. x-1 y—-2 z-3 x—1 y—-1 z-6 : ;
(b) =fe w@rd = o T 3 T == __7qrwaaa'cr%,a“1k

T HH F1d HINT | 37d: ITed eHT TI3T o didd Ueh W&T oh1 Hie THIHT
faftae, s fog (3, —4, 7) 9 EHITA & |
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SECTION -D

In the section there are 4 long answer type questions of 5 marks each.

32. (a) Sketch the graph of y =x|x| and hence find the area bounded by this
curve, X-axis and the ordinates x = -2 and x = 2, using integration.

OR

(b) Using integration, find the area bounded by the ellipse 9x2 + 25y2 = 225,
the lines x = -2, x = 2, and the X-axis.

33. (a) Let A=R - {5} and B = R — {1}. Consider the function f : A —» B,

X 2 . Show that f is one-one and onto.

defined by f(x) =

OR
(b) Check whether the relation S in the set of real numbers R defined by

S = {(a, b) : where a — b + /2 is an irrational number} is reflexive,
symmetric or transitive.

2 1 -3
34. IfA=|3 2 1 |, find Al and hence solve the following system of equations :
1 2 -1

2x+y—-3z=13
3x+2y+z=4

x+2y—z=8
. . . x 2y—6 1-—z
35. (a) Find the distance between the line 3 = 1 = " and another
line parallel to it passing through the point (4, 0, —5).

OR
x—lzy—2:z—3 and x—lzy—lzz—G
-3 2k 2 3k 1 -7
perpendicular to each other, find the value of k and hence write the

(b) If the lines are

vector equation of a line perpendicular to these two lines and passing
through the point (3, —4, 7).

65/4/1/21/QSS4R Page 19 of 24 P.T.0.
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QE-T
3 GUS T 3 Teh{UT MU I39 & | Tedeh 93 o 4 37 & |

36. Th WR, hegpoied T 350 Tl heshelcd o W F o< 1@ 8 | Hhe o Ueh Td o FTER
Tod (p) o T W fofehd aTeT hegpeiedl hl TEAT (x) ¢ It & | oI 3R feehd are

TN T T, YT T B p = 450 — %x‘g{l’ﬂ?ﬁﬁ%

(.- A)

(#7336 §

IR o JMMER WX 3 J91 o ST i

(1)  IAfIHaH 3T R(x) = xp(x) I A & foTT Tohat 318 (x) S=H BN ? 3194 3TN
T T I |

(ii) TR 3T o TeTT Teh hedpeted o ool oh! W 3l fehaHT THT BT 2

37. Ueh WA hg H Ueh TTN1&Teh Ueh o= dqRHSS H Hd THehIl o9 &rdT hl exiid 8 |
HH ™ 9 g O (0, 0, 0) W ferd & e fF foawi shi feafaal D, A den V ot 38 TR &
fop 76 fRufa—mRw w21 + 3] +4k, 71 +5] +8k @31 +7] +11k
g1
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SECTION - E
In this section, there are 3 case study based questions of 4 marks each.

36. A store has been selling calculators at ¥ 350 each. A market survey
indicates that a reduction in price (p) of calculator increases the number
of units (x) sold. The relation between the price and quantity sold is given

by the demand function p = 450 — %x

Based on the above information, answer the following questions :

(1) Determine the number of units (x) that should be sold to maximise
the revenue R(x) = xp(x). Also, verify the result.

(11) What rebate in price of calculator should the store give to maximise
the revenue ?

37. An instructor at the astronomical centre shows three among the brightest

stars in a particular constellation. Assume that the telescope is located at

0(0, 0, 0) and the three stars have their locations at the points D, A and V

A A A A A A AN A A

having position vectors 21 +3j +4k,71 +5j +8k and-31 +7j + 11k
respectively.
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ITURT o MR T 4 o IR SR
() Framv,frarAs R me?

_%
(i) DA i feumm o Ush Usheh—Hfex T hIfT |
(i) £VDA %1 1M HTd I |
JAYan

—> —>
(iii) @fexr DV s afesr DA WY& fohaam g 2

fed, Ssfia 3T et T & ug i o el o foTe anerresr & fow 3ufeda 3 |
ﬁ%ﬁ%gﬁmﬁuﬁwéé,wﬁa%@ﬁﬁqﬁw%wm&@aﬁ

1 TRkt i 8 | = <l T Ueh G H WA § |

I AR o TR 9T fIe I941 & I e
(i) STH W Y U HH Th o g A bl TTRIhdT FA1 8 ?
(i) P(G|H) Ta Hfe s-f G, s@fia % 59 S & evidt @ qur H fga & 9 39
ST T g & |
(iii) ITH W HIA Teh o Yo A 1 JTTRIehT AT HITT |
FaT
(iii) 378 W IS Gl o T ST <hl JTHRIehdT FTd T |
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Based on the above information, answer the following questions :

(1) How far is the star V from star A ?

—>
(11) Find a unit vector in the direction of DA .

(111) Find the measure of Z/VDA.

OR

—> —>
(111) What is the projection of vector DV on vector DA ?

38. Rohit, Jaspreet and Alia appeared for an interview for three vacancies in

. : : .1
the same post. The probability of Rohit’s selection 1is = Jaspreet’s

selection 1is é and Alia’s selection 1is i The event of selection 1is

independent of each other.

Based on the above information, answer the following questions :
(1) What is the probability that at least one of them is selected ?
(i) Find P(G | H) where G is the event of Jaspreet’s selection and H
denotes the event that Rohit is not selected.
(111) Find the probability that exactly one of them is selected.
OR
(111) Find the probability that exactly two of them are selected.
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